T-3 NOTES

Use your calculator to find sin46°18' give answer to 4 places after the decimal. .7230

What if we wanted €¢SC46°18'"instead? Our calculator does not have a CSC button.

We know: gg¢c £ = L so.. ¢sc46°18' = 1 = ]

sin A sin46°18' .7230

to use your calculator to get this first find

use your calculator to get 1.3832 sin46°18"  then hit the key that says

@ it is under the word MATRIX

Ty sec83°36°

First, write the fraction that it is equal to in terms of either sin, cos or tan

scc83°36'= ; =8.9711
cos83°36’

to use your calculator to get this first find

c0s83°36’ then hit the key that says

it is under the word MATRIX

then solve




Now, what if this is the question sec A =1.8652~

Well...what are we looking for a ratio or an angle? An Angle...so A for angle , A for arcsec

but we don't have that button @
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cos fi “cec A
R s

1 _ 18652 cos 4 /. %652

So, we need to find the ﬂTCSBG(I-sﬁsz) =4

=1.8652

well...we know this: secd =
cos 4

so that means: cos A T 1 = 1.8652
cosd = L
1.8652
1 111.8652)
ms[Lsssz] =4 4 DMS
5735
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| Use this idea on T-4 I

37°43"

A

LR= RS -90 -37°4’
Find angle B.
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